+ T 3t i1 &= (—% 1)
A FEYEWTHX, EBAK LY
Vi= (1.69 + 1.91 ) X 1/2 X 5.3 = 9. 54
Vo= (1.91 + 2.03 ) X 1/2 X 3.8 = 7. 49
FEVEWT R, BB . MET (v -oiFI) XV
V3= 0.49 X 1/2 X ( 1.640 + 0.500 )
+ 0.77 X 1.640 = 1.79
MEERR T 0w 7 HIAKS, R Sl
B LR EELY
V4= 20.46 X 0.10 = 2.05
DIR— 20.87 | m3 20.9
FEAEWT ] L Y
R H| V= (0.25 + 0.32 ) X 1/2 X 3.8 = 1.08 | m3 1.1
PRI FEAEWTE B LY
V= (1.40 + 1.42 ) X 1/2 X 5.3 = 7.47 | m3 7.5
HEL FEAEWTE X LY
V= (0.66 + 0.66 ) X 1/2 X 5.3 = 3.50 | m3 3.5
EELTEY
A+ o 5 V= 4.30 X  0.34 = 1.46 | m3
(A +) 1T /m2, FEHE 0.02m3/4
PEHI R G PEH VvV = 20. 87
AR vV = 7.47
+o 9 vV = 1.71
SR LT LY
> = 30.05 | m3 30. 1
o YRR Y KA vV = 0. 00
HEL vV = 3. 50
A+ 9 VvV = 1.46
DE— 4.96 | m3 5.0
B AL ( |EH + ®#E ) — (&t + H#HE ) /0.9
V= 30.05 — 4.96 /0.9 = 24.54 | m3 24.5
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A=/ X XD
Al= (2,19 + 247 ) X 1/2 X
5. 30 = 12.35
A2= ( 2.37 4+ 2.38 ) X 1/2 X
3. 50 = 8. 31
> = 20.66 | m2 20.7
FEYERr [ L
#HAzar s U—K |Vl ( 0.22 + 0.24 ) X 1/2 X
(18-8-25BB) 5. 30 = 1.22
ve= ( 0.18 + 0.17 ) X 1/2 X
3. 50 = 0.61
A=RR/ - Bl
ffia=> 2 —Fk | V3= 20.66 X 0.18 = 3.72
EHEBA T a7 0 1. 8m3/10m2
> = 5.55 | m3
HAar 7 ) —rliAar 7V —1F (Im2H7=0)
5.55 = 20.66 = 0.27 |m3/m2
FEVEMWT T 0
A « BE3ARF [ VI= (0.70 + 0.82 ) X 1/2 X 5.30 = 4.03
(RC-40)
Vo= (1 0.49 + 0.45 ) X 1/2 X 3.50 = 1.65
DI 5.68 | m3 5.7
VAS7 =S A= 20.66 — ( 0.55 + 0.58 ) X 1/2
(VP ¢ 50) X 5.30 X 1.044 — (0.45 + 0.48 )
X 1/2 X 3.50 X 1.044 = 15.83 | m2
SO E KA E B (RO HiAE)  KA75em 61,044 (1 :0.3)
N= 15.83 <+  3.00 = 5.3 = 6.00 | {&#
L= 6.00 X 0.52 = 3.12 | m 3.1
B IERS | A= 0.30 X 0. 30 X 6. 00 = 0.54 | m2 0.5
(300X300X%30)
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(18-8-40BB)
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4 PR g A AL
a7 U—K | V= ( 0.100 X 0.230 + ( 0.230 +
(18-8-40BB) 0.100 ) = 2.000 X 0.430 ) X
10. 000 = 0.940 | m3 0.94
TPy A= (0.230 + 0.100 ) X 10.000 = 3.300 | m2 3.30
BHLarzU—K V= 0.730 X 0.100 X 10.000 = 0.730 | m3 0.73
(18-8-40BB)
LRI A= ( 0.100 + 0.100 ) X 10.000 = 2.000 | m2 2. 00
H Higs A= ( 0.100 X 0.230 -+ ( 0.230 -+
(AT F R, ¢ =10mm) 0.100 ) = 2.000 X 0.430 ) X
2. 000 = 0.188 | m2 0.19
R L A= 0.730 X 10.000 = 7.300 | m2 7.30
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avol)—Fk
(18-8-25BB)
o v
™
200 430
4 PR g B =V VAR ~'¢
aZ7U—K | V= ( 0.130 X 0.200 + 0.130 X
(18-8-25BB) 0.430 = 2.000 ) X 10.000 = 0.540 | m3 0. 54
iyt A= 0.130 X 10.000 = 1.300 | m2 1.30
H ikt A= ( 0.130 X 0.200 + 0.130 X
L 0.430 =+ 2.000 ) X 2.000 = 0.108 | m2 0.11
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o
o
[aX]
avo)—k
(18-8-25BB)
200 450
4 PR g B =V VAR ~'¢
a7 Y—Kk | v= ( 0.230 X 0.200 + 0.230 X
(18-8-25BB) 0.450 = 2.000 ) X 10.000 = 0.978 | m3 0. 98
Tl P A= 0.230 X 10.000 = 2.300 | m2 2.30
H ikt A= ( 0.230 X 0.200 + 0.230 X
(IETFERAEEL F MR, ¢ =10mm) 0. 450 - 2.000 ) X 2.000 = 0.196 | m2 0. 20
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4 PR g H BAT|
a7 )—h | V= 1.670 X 0.300 = 0.501 | m3 0. 50
(18-8-40BB)
TRl e A= 1.420 X 2.000 + 1.880 X
1.044 X 0.300 = 3.429 | m2 3.43

Xak1.044 (1:0.3)

IR¥JL A= 0.400 X 0.300 = 0.120 | m2 0.12




(1% 0)

4 PR At A HAL 5=
avsy—k7mws] V= 2.550 X 0.500 + 2.550 X 1/2
(#£35¢m, B = > 15cm) ( 1.640 — 0.500 ) = 2.729 | m2 2.73
1:0.5
L= 2.729 / ( 1/2 X 1.640 + 0.500 ) = 2.550 | m
#HiAar 7 U—K| V= 0.303 X 1/2 X (1.640 -+ 0.500 ) = 0.324 | m3 0.32
(18-8-25BB)
ffiA=z> 27U —k| V= 2.729 X  0.180 = 0.491 | m3
(18-8-25BB) KEHEPEA T a7 2 1. 8m3/10m2
>=  0.815 | m3
HiAar 7 ) —rfiliAa> 27 U—F (Im2H7=0)
0.815 = 2.729 = 0.299 |m3/m2 0. 30
HARF V= 0.488 X 1/2 X ( 1.640 + 0.500 ) = 0.522 | m3 0.52
(RC-40)
K& A= 2.729 — (0.50 + 0.70 ) X 1/2
(VP ¢ 50) X 0.45 X 1.118 = 2,427 | m2 2.43
SOEE KN E S (BRAhimfE)  AKfrbem  #&Hk1.118 (1:0.5)
N=  2.43 +  3.00 = 0.8 = 1.00 | &
L= 1.00 X  0.52 = 0.52 | m 0.52
W B IERS | A= 0.30 X 0. 30 X 1. 00 = 0.09 | m2 0. 09
(300 X 300X 30)
H Higt IOIET LD
EEEeER b, c=tomy) | A= 1. 42 1.420 | m2 1.42
mELarsy—rr| L= ( 0.500 + ( 0.700 — 0.500) X 1/2)
0.110 0.066 | m3 0.07
R L = 1.640 1.640 | m 1. 64
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H S 4 H (m) B N S| [T 5 N S| [T ) YA S| [T
(m) (m) (m2) (m) (m) (m2) (m) (m) (m2)

NO. 0 NO. 0 + 0. 00 0. 00 2.29

NO. 0+5. 3 NO. 0 + 5.30 5. 30 1. 86 2. 08 11.02
NO. 0+9. 1 NO. 0 + 9.10 3. 80 1.64 1.75 6. 65
it 9.10 17. 67
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ayv 7 Y—h ERHK, MET (T2 T) XY
KersMBE L [ V= ( (2.550 X 0.500 ) + 2.550 X  (1.640
€3 — 0.500) X 1/2 ) X 0.350 = 0.95
MK T oy I
V2= 0.303 X 1/2 X (1.640 + 0.500) ) = 0. 32
> = 1.27 | m3 1.3
7 A7 7k B U ER AR ELY
SHAEIREEE L | Al= 22.06 = 22. 06
(t=10cmlL F)
PEfg sy
A2=  -1.60 = -1.60
*No. 0+5. 3ffaT  HE/AKME L=1.0,W=1.6
> = 20. 46 | m2 20.5
S R BT
(72770 k) | L= 2.92  +  1.97 = 4,89 | m 4.9
(t=15cmPL F) ¥No. OFEIHT - 2.92m, No. 0+9. 1457 : 1. 97m
TR ALEE T
NTIFEIA EwEE L () X
= s v—1) | V= 1,27 = 1.27 | m3 1.3
I ANJTIFEIALD
=y s U—1) | V= 1,27 = 1.27 | m3 1.3
TR T AT 7 v MESERREEEL LY
(72774 R) | V= 20.46 X  0.04 = 0.82 | m3 0.8
RISy HOERE 2
= sv—1) | V= 1,27 = 1.27 | m3 1.3
RISy ARIER LD
(FAZ77R) | V= 0.82 = 0.82 | m3 0.8
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H S 4 H =y (m% B N S| [T 5 N S| [TETI = S T Y A 53 (N
(m) (m) (m2) (m) (m) (m2) (m) (m) (m2)
NO. 0 NO. 0 + 0. 00 0. 00 2.92
NO. 0+5. 3 NO. 0 + 5.30 5. 30 2.32 2.62 13. 89
NO. 0+9. 1 NO. 0 + 9.10 3. 80 1.97 2. 15 8. 17
it 9.10 22.06
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L= 14.00 = 14.00 | m 14.0
REFYI T M KE+H
NiI= 0.70 = 1.10 = 0.6 = 1.00 | 4%
N2=  0.50 = 1.10 = 0.5 = 1.00 | 4%
> = 2.00 | 4% 2.0
V= /4 X 1.1002 X .08 =  1.20
X 2.00 = 1.71 | m3
PEYEFEEY)  |N= 5,00 X 2,50 + 7.00 X 0.40 = 15.30 | kg 15.3
TEMLE % BRI Lo 9 3R, R o 948 248,
(BE77) NI H 4R TAR
X KA H 4R L K2, bke/ K, NV D H 4 K0, dke /KL
A E B T
ZE A B A N= 1. 00 = 1.00 | = 1.0




